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1. An observational design that measures existing disease and current exposure level at a single point in time is:

a. Cross –sectional study.

b. Cohort study.

c. Case-control.

d. Case report.
2. Attrition may occur in:

a. Case- control study.

b. Clinical trials.

c. Correlation study.

d. Cross- sectional.
3. The most suitable epidemiological study design to find the association between parental consanguinity and hereditary diseases is:
a. Cross –sectional study.

b. Cohort study.

c. Case-control.

d. Case report.
4. The study using data from entire population to compare between lung cancer deaths in relation to per capita cigarette consumption is:

a. Correlation study.

b. Cohort study.

c. Case-control.

d. Case report.
5. in cohort studies, we can measure  the association between the risk factor and the exposure by:

a. Odd ratio.

b. Incidence rate.

c. Relative risk

d. Prevalence rate.
6. The only absolutely essential criterion for causal relation is:

a. Biological plausibility.

b. Causality.

c. Temporality.

d. Biological gradient.
7. A person or animal without apparent disease who harbors a specific infectious agent and is capable of transmitting the agent to others is:

a. Reservoir.

b. Carrier.

c. Host.

d. ….
8. The prevalence rate can be calculated from:

a. Cross- sectional studies.

b. Cohort studies

c. Correlation studies.

d. Case-control studies.
9. The presence of a new effective vaccine can lead to:

a. Increase  incidence .

b. Decrease  prevalence.

c. Increase  prevalence.

d. Decrease incidence.
10. Name one zoonotic disease and its reservoir:

         Disease: ………………….                                    Reservoir: ……………………
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10) Brucellosis / cows and pigs.
